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Aims

This project will be about finding out maximum throughput possible on both wireless and wired. This
will be carry out by having one computer using iperf to set up itself as a server connecting with the
router directly through wired LAN cable. While the other computer act as a client using iperf sending
data packets to the server through wired and wireless transmission. We can find out the maximum
throughput by increase bandwidth used to send data 1-5 Mb/sec at a time. This data will then
collected and plot into graph and with suitable trend line, we can determine the maximum
throughput of each transmission medium.

Network Diagram

Figurel : Wireless network
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Equipment Specifications
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" LAN cable

Dell Inspiron n-series Toshiba Protege T230 Linksys wrt54gl
Processor intel core i7 | Processor intel core i3 | version Backfire Buffalo CAT-6 Flat
cpu 2.0GHz cpu 1.33GHz 10.03.1 with the Network Cable
Window 7 Window 7 Broadcom Linux 2.4
kernel

Intel Centrino Wireless- | Broadcom 802.11n Cable Type: UTP-4
N1030 7)) .| N network adapter Straight Cable

a) £) 92 a) Connector Type: RJ-45
Realtek PCle SE Family Connector
Controller N Cable: Twiste
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Parameters
Parameters Default Value
Channel 1
MTU Auto
Transmit power 70 mW
LAN cable CAT6
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Experiment 1 - Measui‘ing throughput with Iperf
In this experiment, we are focusing on the throughput of the bandwidth and find the

maximum possible throughput of the bandwidth by increasingly the bandwidth packet to
the server one-by-one and use the data that feedback from the server to plot the graph.
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Result 1: Throughput in wireless network
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Figure3: Graph of the throughput of wireless transmission éoﬂ/ :









Summary

As we can see from the resultl and the result2 above, resultl show the throughput '.% 2 ?L5
that use a wireless network and we can see that the throughput is start to stop increasing 192 é?
when the throughput reach a maximum possible throughput as we can see from the table of | /
resultl that when the throughput reach at 19Wft to stop {" O
increasing and the percent of packet loss is start increasing gradually/even as we increase Z DS
fﬁe/t)—a—r\;lwidth it is shown that many more packet will loss and it wijl cause the inefficiency Q g
of the network , but if we looking at the table of the result2 that uge a wired network and f 2 725%’[@ / /
it's means the transmission of data through the LAN cable can get much more possible i
throughput rate as we look from the result2 table the throughpyt can reach until 98 [
MAbits/sec and cause a little bit packet loss and i;}( will be the same as resultl that when it’s ,l
reach the maximum throughput it will start to/stop increasing the throughput. After they :
reached the maximum throughput it might Be because of wired and wireless interface that

impact on the throughput performance.
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